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Emodule modeSs5s (clock, reset, OUT) -

input reset,clock;

output OUT;

reg OUT;

reg [2:0]&;

alwavsE (negedge reset,posedoe clock)
Ebegin

OUT=Aa[9]:

if('re=set);

else if (A==10'dS54)h<=0;

el=se LR<=0L+1;

end
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Emodule mode225 (clock, reset A, OUT) ;

input reset,clock;

output [T:0]A4;

reg [T:0]&;

output OUT;

reg COUT;

alwaysiE (negedge reset,posedge clock)
Ebegin

CUT=L[7]:

if('reset);

else if (A==8'd224)L<=0;

else R<=0+1;

end
endmodule
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input [T7:0]5W;
input [T7:0]A5;
output OUT;
reg [T:0]5W1;
reg OUT;
alwavys@E (5W,AS)
Ebegin
SW1l={5W}+8'd45;
if (SW1x=a5) OUTI=1
el=e QUT=0;
end
endmodule
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Emodule mode? (reset, clock, outend, R, 4) ;
input clock;
input reset;
output [7:0] outend;
output [9:0] R,A;
reg [7:0] outend;
reg [9:0] R,A;
alwaysiE (posedge clock,negedge reset)
Ebegin)
if('resetc)las=0;
else if (A==10'd%)A<=10"d0;
else R<=0+1;
end
alwaysiE (posedge L[3],negedge reset)
Ebegin
if('resetc)R<=0;
else if (R==10'd180)R<=10'd0;
else B<=R+1;
end

alwaysiE (R)
Ebegin
outend=RE;
end

endmodule
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Emodule decoder3X8 (clock,reset, CHCOUT) ;

input clock, reset;
output [7:0] CHCUT;
reg [7:0]CHCUT;
reg [2:0] A&;
alwaysid (negedge reset ,posedge clock)
begin
if (!'reset)i<=0;
else h<=0+1;
end
alwaysiE (L)
begin
case (&)
3'd0:CHCUT=8"'L0000000L;
3'dl:CHCUT=8'L0O0000010;
3'd2:CHCUT=8'L00000100;
3'd3:CHCUT=8'L00001000;
3'd4:CHCUT=8"'L00010000;
3'd5:CHCUT=8"'L00100000;
3'd6:CHCUT=8"'L01000000;
default:CHCUT=8'L10000000;
endcase
end
endmodule



inpmt 5;

input [T7:0]1D;

output OUT;

reg OUT;

always@E(5,D)

Bhegin

if(D[7:0]==1l&&5==1) CQUI=1;
el=e OUT=0;
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1 endmodule
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